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General Instructions: 

1; All the questions are Gompulsory; 

PRE BOARD EXAMINATION, .JANUARY 2020 

Mathematics 

 

2. This question paper comprises 4 printed pages.

Max.Marks: 80 
Time: J hrs 

3. The question paper contains 40. questions divided into four sections A, B, C and D.
SeGtion-A Gomprises 20 questions of 1 mark eachi SeGtion-B; 6 4uestions of 2 marks each; Section-C, 8
questions of3 marks each and Section-D, 6 questions of 4 marks each.

4. There is no overall choice. However, an internal choice has been provided in two questions of 1 mark each,
two 4uestions of 2 marks eaGh; three questions of 3 marks eaGh, and three questions of 4 marks each, You have
to attempt only one of the alternatives in all such questions.

5. Use of calculator is not pe1mitted.

Section A 

Choose the most appropriate answers for the following questions. 

1. Which of the following relation is correct?
a) 2mean = 3median + mode b) 3mode = 2mean + median
c) 3median =mean+ 2mode d) mode = 3median -2mean

2. If the equation x2 - ax+ 1 = 0, has two distinct roots, then

10 X 1 = 10 

a) a< 2 b) a> 2 c) a> +2 d) a< +2
:3. The distance between the points(0, 0) and (a, b) is 

a)-va + b b)-va - b c) v
,-
a--2 -_-b

.....,...

2 d)-va2 + b2

4. Two tangents TP and TQ drawn from an external point T to a circle of centre 0. If LPTQ = 56° and
LPOQ = 6x - 2, then value of xis,
a)21 b) 11 c) 19 d)29

5. The graph ofx- 5 = 0
a) Parallel to y - axis

c) Passes through origin

6. Which of the following is true for 
27

?
18 

a) Terminating decimal expansion

b) Parallel to x - axis

d) both (a) and (c)

b) Non terminating repeating decimal expansion
c) Non terminating non repeating decimal expansion
d) None of the above

7. If a and f3 are the zeros of the polynomial x2 
- 4x + 2 = 0, then the value of

(a+ 1)(/3+ 1) is
aj0 �3 tj6 �7

8. When sum of probabilities of two events are equal to 1, then the events are called
(a) Equal trials b) Unique events c) Equally likely

9. 1n a right angie triangle ABC, LC = 90°, then sec(A +B) =

aj0 �1 tj�

d) Complementary

d) Not defined

10. The ratio oflength of a rod and its shadow is 1: -/3. Then the angle of elevation of the sun is
a) 30° b) 60° c) 45° d) 90°
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